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GED) HEMBEERUVRTEFEHERSE HER  SMTE0TH08H
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SRE Eih Bl X9 EHEHE =iE g ZiE TR FEH=E
(kg) (kg) (kg)
X#E L B 10| #Bxt 70, 000 972 864 540 H 100, 000
AS =5 100 #Ext 65, 000 2,160 864 # 65, 000
HE =5 10| #Bxt 4,500 756 540 H 4,000
HE £ 10| #Axt 2,000 972 # 2,000
KE I 0.2| #Ext 500 86 H 500
IMNAZE =% 0.2 fExt 100 108 43 11 # 500
INAEE I 0.2| #Ext 2,250 43 H 2,500
FrARyY o 10| #Axt 32,000 540 432 # 40, 000
ES5SNAE =5 0.2| #Ext 600 140 108 32 H 800
= S 5, +Y 1,150 1,944 1, 404 756 H 1, 000
= I 5 =t 3, 500 1,296 A 3, 500
=2 L AR, T 0.1 #Ext 1,000 54 H 1, 000
JOovaly— AL12FE |&F% 5 #Ext 1,000 792 # 3, 500
JOowvaly— AL24FEF |BF 8  HExt 2,400 2,333 # 2, 400
LA R =F 10| #Ext 4,000 756 +H 4,000
FoagoYA P37 0.2 #Ext 100 108 H 100
I AS 55 5 1) 500 1,836 1,404 1,080 H 600
AN AS e 5  Hxt 500 1,836 H+ 500
i+ I 4 HExt 600 1,296 H 600
k< bk % 4 +) 1, 600 1,728 1,080 324 H 1,600
E—< > =5 0.15) +1) 3,000 119 H 3,000
HEE I 5  Hxt 1,000 1,728 H+ 1,000
EHE I 100 x>t 10, 000 1,404 H 10, 000
E¥ A4L. A3L o 100 &) 12, 000 4,320 1,620 H 10, 000
EE EE. ;K 200  #Ext 10, 000 4,104 H 10, 000
EgIZAIZL B 11 +1) 100 1,944 H 300
EHE =F 0.1 #Ext 3,000 76 H 2,000
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3 Eih B Xe EFEHE SiE hiE ZiE| TR FEH=
(kg) (kg) (kg)
JFIAS A 8. B 0.1 #Bxt 850 76 #H 850
T4 A 8. B 0.1 £=& 30 70 # 20
e 271,270




